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QUESTION 1

A customer has just finished configuring an Emulex HBA on a Linux server and has made several driver changes to the
modprobe.conf file. Which command should be run to ensure proper loading of the new drivers? 

A. mkinitrd 

B. modprobe 

C. module_upgrade 

D. modinfo lpfc 

Correct Answer: A 

 

QUESTION 2

While performing an NDU what must be done to bypass a rule check? 

A. Enable Engineering mode. 

B. Log in as a Global user. 

C. Log in as a Local User. 

D. Verify FLARE code is committed. 

Correct Answer: A 

 

QUESTION 3

A customer is sharing resources across ESX servers in a multi-server environment. 

How many hosts can simultaneously access the VMFS? 

A. 32 

B. 64 

C. 16 

D. 128 

Correct Answer: A 

 

QUESTION 4

On a Windows server with PowerPath installed, how is I/O routed to the non-owning SP of a LUN? 
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A. I/O is balanced across active optimal paths for a given LUN. 

B. I/O is balanced across active paths using the First In, First Out algorithm. 

C. I/O is sent across all paths using the round-robin algorithm. 

D. I/O load balances across non-optimal paths for a given LUN. 

Correct Answer: A 

 

QUESTION 5

A customer\\'s Windows 2008 server has four NICs connected to the private subnet used for iSCSI traffic. Server IP
parameters are left at the default settings. How will iSCSI I/O traffic be distributed across the NICs? 

A. One NIC will carry iSCSI traffic and the rest will be in standby. 

B. The four NICs will carry iSCSI traffic in a round-robin pattern. 

C. The four NICs will be divided into two active/passive pairs. 

D. iSCSI traffic will be balanced across all four NICs. 

Correct Answer: A 
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